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The high-tech sports car (Hennessy Venom F5) has a
mass of 1360/ g and a maximum speed of 484km /h.
What is the magnitude of the net force acting on this
car When it moves at a constant velocity?
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Which body of the following is not in equilibrium o1y Wl ‘_3 o L}L'J\ o &
situation?
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A plate placed on a dining table. A box moving on a smooth
surface with constant velocity.
the when down slows bike A both from pulled being is robe A
brakes. the applies rider forces. opposite and equal by sides
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What is the net force acting on a 1.0kg ball moving | Sl dgmes %e i £ & 1.0kg K 55 Y W] S;.ZJ\ Lo
at a constant velocity?
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Which of the following objects is not in equilibrium? 0171 dle 3 Ll W) (L«a-‘\“ o ‘:.;T
A book at rest on a table A car moving in a constant acceleration
bl o oSl § OE b gl 8 5L
A train moving with A parachute falling
a constant velcity with terminal velocity.
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Calculates the net force acting on a body by relating
the direction of acceleration to the direction of the net
force.
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What are the forces acting on the ball and the mutual
influence of the two?
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A weight is suspended from the ceiling by a massless
piece of rope. A second weight is attached to the first
weight and suspended below it by another massless
piece of rope. If each weight has a mass of 5.0kg,
what is the tension in each rope?
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A weight is suspended from the ceiling by a massless
rope. A weight of mass 3.0kg is attached to the
weight and hanging below it by another piece of rope
of negligible mass. The tension in the upper rope is
65.0NV Find the tension in the lower rope and the mass
of the upper weight.
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The forces acting on a 5kg box is shown below. What
is the acceleration of the box?
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What is the acceleration of a 17kg box under the effect
of multiple forces as shown in the figure below.
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